WERA: ENELLE M HES:3
BEES 1 &= H H25.8.28
e EHEWLE(EKY)
1B 35.789350
RE 137.799467
R |BeThb,
BEEES 2 = H25.8.28
e EHEILFE
B 35.789383
BE 137.798900
R |BeThb.
BEES 3 A= H25.9.11
e EBEILFE
B 35.789233
RE 137.798517
R |BeThb.
BEES 4 &= H H25.9.11
i EHFELFE FHE
1B 35.789300
RE 137.798367
iR |[BETHD,




HERR: ENEILE MERES 3
S BHEEE 5 A H25.9.11
i & ElELFE FLAER
e 35.789433
7 137.798350
R |BeThb.
EEEE 6 A H25.8.28
i e kL
B 35.789233
B 137.798500
R |BeThb.
EEEE 7 A H25.8.28
i & e (V2N
e 35.789233
B 137.798500
R |BeThb.
EEEE 8 BEH H25.8.28
i e LK
e 35.789233
7 137.798517
BR |BeThb.




T e

EHEES 9 ¥ H H25.8.28
i REE
@ 35.789233
RE 137.798500
B |BETHL.
EEES| 10 & H H25.9.11
iR EBZEWE KiE
faE 35.790417
RE 137.797917
B |BETHL.
FEES| N wH H25.9.11
iR EBZEWE KiE
@ 35.790483
RE 137.797717
B |BETHL.
EEES m¥ R
iR
faE
RE




